
HOW TO ASSEMBLE  
YOUR BIKE

COMMUTER
(Elecric Bike)



1. �Open the carton and remove the bike. If you remove the 
basket first you’ll be able to remove the entire bike as a single 
piece.

2. �This is how it will look once out of the box. Remove all foam 
packaging, and cable ties. Take care to only remove the 
cable ties.

2

EN

32 Relationship : 1 Nm = 8.9 lbf.in = 10.2 kgf.cm

Brakes

Component lbf.in Newton Meters (Nm) kgf.cm

Brake Lever (Flat Bar) 53-60 6-6.8 61-69

Brake Lever (Drop Bar) 55-80 6.2-9 63-92

Disc Rotor to Hub (M5 bolts) 18-35 2-4 21-40

Caliper Mount 55-70 6.2-7.9 63-81

Wheels

Component lbf.in Newton Meters (Nm) kgf.cm

Free Hub Body 305-434 34.5-49 352-499

Cassette Sprocket Lockring 260-434 29.4-49 299-499

Front Axel Nuts 180 20.3 207

Rear Axel Nuts 260-390 29.4-44.1 299-449

Drivetrain

Component lbf.in Newton Meters (Nm) kgf.cm

Pedal into Crank 307 34.7 353

Crank Bolt (Spline and Square Spindles) 300-395 33.9-44.6 345-454

Bottom Bracket (External Shell) 610-700 40-50 702-805

Bottom Bracket (Cartridge and Cup-and-Cone) 435-610 49.1-68.9 500-702

Others

Component lbf.in Newton Meters (Nm) kgf.cm

Steerer Clamp Bolt (Stem) 70-89 8-10 80-102

Top Cap Bolt 35-53 4-6 41-62

Handlebar Clamp Bolts (4 Clamp Bolts) 36-53 4-6 41-62

Saddle Rail Clamp 70-89 8-10 80-102



3. �Once foam packaging and cable ties have been removed this 
is how it will look. 

4. �Using the tool-kit provided, remove the 4 screws on the stem 
to get ready to install the handlebars.

33

Thank you for choosing an Ignite e-Bike. This manual has been designed to help get a better understanding of you Commuter eBike.

The Commuter eBike is compliant to Australian standards (EN15194). 

Items in carton:
When you open the carton, please check if the following items are inside. If not, please contact with your agent.

1. Introduction

EN

Charger - 1pcs Pedal - 1pair Manual - 1pcs

USER MANUAL
Basket

Tool kit

Front Wheel

Pedals

Front Wheel 
Quick Release 

Charger

Front Mudguard



5. �Install the handlebars against the stem and then replace the 
4 screws to lock in the handlebars.

6. �It should look like this.

4

EN

32 Relationship : 1 Nm = 8.9 lbf.in = 10.2 kgf.cm

Brakes

Component lbf.in Newton Meters (Nm) kgf.cm

Brake Lever (Flat Bar) 53-60 6-6.8 61-69

Brake Lever (Drop Bar) 55-80 6.2-9 63-92

Disc Rotor to Hub (M5 bolts) 18-35 2-4 21-40

Caliper Mount 55-70 6.2-7.9 63-81

Wheels

Component lbf.in Newton Meters (Nm) kgf.cm

Free Hub Body 305-434 34.5-49 352-499

Cassette Sprocket Lockring 260-434 29.4-49 299-499

Front Axel Nuts 180 20.3 207

Rear Axel Nuts 260-390 29.4-44.1 299-449

Drivetrain

Component lbf.in Newton Meters (Nm) kgf.cm

Pedal into Crank 307 34.7 353

Crank Bolt (Spline and Square Spindles) 300-395 33.9-44.6 345-454

Bottom Bracket (External Shell) 610-700 40-50 702-805

Bottom Bracket (Cartridge and Cup-and-Cone) 435-610 49.1-68.9 500-702

Others

Component lbf.in Newton Meters (Nm) kgf.cm

Steerer Clamp Bolt (Stem) 70-89 8-10 80-102

Top Cap Bolt 35-53 4-6 41-62

Handlebar Clamp Bolts (4 Clamp Bolts) 36-53 4-6 41-62

Saddle Rail Clamp 70-89 8-10 80-102



7. �You can adjust the angle of the handlebars by losing off this 
screw and adjusting. Make sure this screw is tight to lock you 
handlebars in place.

8. �Optional: If you want to install the front mud-guard, remove 
the front light by undoing this screw and removing the nut on 
the other side.

53

Thank you for choosing an Ignite e-Bike. This manual has been designed to help get a better understanding of you Commuter eBike.

The Commuter eBike is compliant to Australian standards (EN15194). 

Items in carton:
When you open the carton, please check if the following items are inside. If not, please contact with your agent.

1. Introduction

EN

Charger - 1pcs Pedal - 1pair Manual - 1pcs

USER MANUAL



9. �Assemble the mudguard, the clip with a hole on it at the top 
of the mud guard goes between the front fork, and the light 
assembly. 

10. �It should look like this. Re-tighten this screw and nut on the 
other end to lock it in place.

6

EN

32 Relationship : 1 Nm = 8.9 lbf.in = 10.2 kgf.cm

Brakes

Component lbf.in Newton Meters (Nm) kgf.cm

Brake Lever (Flat Bar) 53-60 6-6.8 61-69

Brake Lever (Drop Bar) 55-80 6.2-9 63-92

Disc Rotor to Hub (M5 bolts) 18-35 2-4 21-40

Caliper Mount 55-70 6.2-7.9 63-81

Wheels

Component lbf.in Newton Meters (Nm) kgf.cm

Free Hub Body 305-434 34.5-49 352-499

Cassette Sprocket Lockring 260-434 29.4-49 299-499

Front Axel Nuts 180 20.3 207

Rear Axel Nuts 260-390 29.4-44.1 299-449

Drivetrain

Component lbf.in Newton Meters (Nm) kgf.cm

Pedal into Crank 307 34.7 353

Crank Bolt (Spline and Square Spindles) 300-395 33.9-44.6 345-454

Bottom Bracket (External Shell) 610-700 40-50 702-805

Bottom Bracket (Cartridge and Cup-and-Cone) 435-610 49.1-68.9 500-702

Others

Component lbf.in Newton Meters (Nm) kgf.cm

Steerer Clamp Bolt (Stem) 70-89 8-10 80-102

Top Cap Bolt 35-53 4-6 41-62

Handlebar Clamp Bolts (4 Clamp Bolts) 36-53 4-6 41-62

Saddle Rail Clamp 70-89 8-10 80-102



11. �Adjust the front light so it looks like this picture and then 
tighten up the screw. This will allow for enough space to 
install the front basket. 

12. �Optional: If installing the front basket, remove these 4 
screws.

73

Thank you for choosing an Ignite e-Bike. This manual has been designed to help get a better understanding of you Commuter eBike.

The Commuter eBike is compliant to Australian standards (EN15194). 

Items in carton:
When you open the carton, please check if the following items are inside. If not, please contact with your agent.

1. Introduction

EN

Charger - 1pcs Pedal - 1pair Manual - 1pcs

USER MANUAL



8

EN

32 Relationship : 1 Nm = 8.9 lbf.in = 10.2 kgf.cm

Brakes

Component lbf.in Newton Meters (Nm) kgf.cm

Brake Lever (Flat Bar) 53-60 6-6.8 61-69

Brake Lever (Drop Bar) 55-80 6.2-9 63-92

Disc Rotor to Hub (M5 bolts) 18-35 2-4 21-40

Caliper Mount 55-70 6.2-7.9 63-81

Wheels

Component lbf.in Newton Meters (Nm) kgf.cm

Free Hub Body 305-434 34.5-49 352-499

Cassette Sprocket Lockring 260-434 29.4-49 299-499

Front Axel Nuts 180 20.3 207

Rear Axel Nuts 260-390 29.4-44.1 299-449

Drivetrain

Component lbf.in Newton Meters (Nm) kgf.cm

Pedal into Crank 307 34.7 353

Crank Bolt (Spline and Square Spindles) 300-395 33.9-44.6 345-454

Bottom Bracket (External Shell) 610-700 40-50 702-805

Bottom Bracket (Cartridge and Cup-and-Cone) 435-610 49.1-68.9 500-702

Others

Component lbf.in Newton Meters (Nm) kgf.cm

Steerer Clamp Bolt (Stem) 70-89 8-10 80-102

Top Cap Bolt 35-53 4-6 41-62

Handlebar Clamp Bolts (4 Clamp Bolts) 36-53 4-6 41-62

Saddle Rail Clamp 70-89 8-10 80-102

13. �Install the front basket and then re-install these 4 screws. 14. �It’s now a good time to flip the bike upside down. It will make 
it much easier for the next steps. A handy tip is to use some 
of the foam packaging to make sure the screen doesn’t get 
scratched on the ground.



93

Thank you for choosing an Ignite e-Bike. This manual has been designed to help get a better understanding of you Commuter eBike.

The Commuter eBike is compliant to Australian standards (EN15194). 

Items in carton:
When you open the carton, please check if the following items are inside. If not, please contact with your agent.

1. Introduction

EN

Charger - 1pcs Pedal - 1pair Manual - 1pcs

USER MANUAL

15. �If you’ve installed the mud-guard, undo these screws on 
each side of the fork, place the mud-guard arm in front of 
the hole and re-install the screws on either side.

16. �Next step is to install the front wheel. Take note of the gap 
here between the brake pads – this is where the disc brake 
will sit when you put the front wheel in.



10

EN

32 Relationship : 1 Nm = 8.9 lbf.in = 10.2 kgf.cm

Brakes

Component lbf.in Newton Meters (Nm) kgf.cm

Brake Lever (Flat Bar) 53-60 6-6.8 61-69

Brake Lever (Drop Bar) 55-80 6.2-9 63-92

Disc Rotor to Hub (M5 bolts) 18-35 2-4 21-40

Caliper Mount 55-70 6.2-7.9 63-81

Wheels

Component lbf.in Newton Meters (Nm) kgf.cm

Free Hub Body 305-434 34.5-49 352-499

Cassette Sprocket Lockring 260-434 29.4-49 299-499

Front Axel Nuts 180 20.3 207

Rear Axel Nuts 260-390 29.4-44.1 299-449

Drivetrain

Component lbf.in Newton Meters (Nm) kgf.cm

Pedal into Crank 307 34.7 353

Crank Bolt (Spline and Square Spindles) 300-395 33.9-44.6 345-454

Bottom Bracket (External Shell) 610-700 40-50 702-805

Bottom Bracket (Cartridge and Cup-and-Cone) 435-610 49.1-68.9 500-702

Others

Component lbf.in Newton Meters (Nm) kgf.cm

Steerer Clamp Bolt (Stem) 70-89 8-10 80-102

Top Cap Bolt 35-53 4-6 41-62

Handlebar Clamp Bolts (4 Clamp Bolts) 36-53 4-6 41-62

Saddle Rail Clamp 70-89 8-10 80-102

17. �Gently place the front wheel into the forks. The disc brake 
will sit between the brake pads and the wheel hub will rest 
inside the forks.

18. This is how it should look.



113

Thank you for choosing an Ignite e-Bike. This manual has been designed to help get a better understanding of you Commuter eBike.

The Commuter eBike is compliant to Australian standards (EN15194). 

Items in carton:
When you open the carton, please check if the following items are inside. If not, please contact with your agent.

1. Introduction

EN

Charger - 1pcs Pedal - 1pair Manual - 1pcs

USER MANUAL

19. �Place the front wheel quick release mechanism through the 
entire front assembly so that it looks like this.

20. �On the other side, put in the spring and the end cap. Now 
simultaneously tighten both sides by counter-rotating the 
quick release handle on one side and the end cap on this 
side.



12

EN

32 Relationship : 1 Nm = 8.9 lbf.in = 10.2 kgf.cm

Brakes

Component lbf.in Newton Meters (Nm) kgf.cm

Brake Lever (Flat Bar) 53-60 6-6.8 61-69

Brake Lever (Drop Bar) 55-80 6.2-9 63-92

Disc Rotor to Hub (M5 bolts) 18-35 2-4 21-40

Caliper Mount 55-70 6.2-7.9 63-81

Wheels

Component lbf.in Newton Meters (Nm) kgf.cm

Free Hub Body 305-434 34.5-49 352-499

Cassette Sprocket Lockring 260-434 29.4-49 299-499

Front Axel Nuts 180 20.3 207

Rear Axel Nuts 260-390 29.4-44.1 299-449

Drivetrain

Component lbf.in Newton Meters (Nm) kgf.cm

Pedal into Crank 307 34.7 353

Crank Bolt (Spline and Square Spindles) 300-395 33.9-44.6 345-454

Bottom Bracket (External Shell) 610-700 40-50 702-805

Bottom Bracket (Cartridge and Cup-and-Cone) 435-610 49.1-68.9 500-702

Others

Component lbf.in Newton Meters (Nm) kgf.cm

Steerer Clamp Bolt (Stem) 70-89 8-10 80-102

Top Cap Bolt 35-53 4-6 41-62

Handlebar Clamp Bolts (4 Clamp Bolts) 36-53 4-6 41-62

Saddle Rail Clamp 70-89 8-10 80-102

21. �Assemble the pedals. Take note that now that your bike is 
upside down the pedal facing you will be the right one. It 
should look like this.

22. �Tighten the pedal with the special tool located in your tool 
kit. Then repeat for the other side. 



133

Thank you for choosing an Ignite e-Bike. This manual has been designed to help get a better understanding of you Commuter eBike.

The Commuter eBike is compliant to Australian standards (EN15194). 

Items in carton:
When you open the carton, please check if the following items are inside. If not, please contact with your agent.

1. Introduction

EN

Charger - 1pcs Pedal - 1pair Manual - 1pcs

USER MANUAL

23. �Now is a good time to fill your tyres with air. We recommend 
45psi but refer to your tyre side-wall for exact details.

24. �Adjust your seat to the correct height. Make sure this screw 
is tight, and the push in the quick release lever to lock it in 
place.



14

EN

32 Relationship : 1 Nm = 8.9 lbf.in = 10.2 kgf.cm

Brakes

Component lbf.in Newton Meters (Nm) kgf.cm

Brake Lever (Flat Bar) 53-60 6-6.8 61-69

Brake Lever (Drop Bar) 55-80 6.2-9 63-92

Disc Rotor to Hub (M5 bolts) 18-35 2-4 21-40

Caliper Mount 55-70 6.2-7.9 63-81

Wheels

Component lbf.in Newton Meters (Nm) kgf.cm

Free Hub Body 305-434 34.5-49 352-499

Cassette Sprocket Lockring 260-434 29.4-49 299-499

Front Axel Nuts 180 20.3 207

Rear Axel Nuts 260-390 29.4-44.1 299-449

Drivetrain

Component lbf.in Newton Meters (Nm) kgf.cm

Pedal into Crank 307 34.7 353

Crank Bolt (Spline and Square Spindles) 300-395 33.9-44.6 345-454

Bottom Bracket (External Shell) 610-700 40-50 702-805

Bottom Bracket (Cartridge and Cup-and-Cone) 435-610 49.1-68.9 500-702

Others

Component lbf.in Newton Meters (Nm) kgf.cm

Steerer Clamp Bolt (Stem) 70-89 8-10 80-102

Top Cap Bolt 35-53 4-6 41-62

Handlebar Clamp Bolts (4 Clamp Bolts) 36-53 4-6 41-62

Saddle Rail Clamp 70-89 8-10 80-102

25. �Now it’s time to connect the electrics together. It’s a simple 
joiner and will bring your eBike to life. With one hand hold 
the cable coming from the screen with the green plug. With 
the other, find the female socket to join together.  

26. �Align the arrows together and push the cables to make 
the connection. All of the colour green should disappear to 
ensure a good connection.



153

Thank you for choosing an Ignite e-Bike. This manual has been designed to help get a better understanding of you Commuter eBike.

The Commuter eBike is compliant to Australian standards (EN15194). 

Items in carton:
When you open the carton, please check if the following items are inside. If not, please contact with your agent.

1. Introduction

EN

Charger - 1pcs Pedal - 1pair Manual - 1pcs

USER MANUAL

27. �To power on your eBike press and hold the power button for 
a couple of seconds. 

28. This is how your screen will look once turned on.



16

EN

32 Relationship : 1 Nm = 8.9 lbf.in = 10.2 kgf.cm

Brakes

Component lbf.in Newton Meters (Nm) kgf.cm

Brake Lever (Flat Bar) 53-60 6-6.8 61-69

Brake Lever (Drop Bar) 55-80 6.2-9 63-92

Disc Rotor to Hub (M5 bolts) 18-35 2-4 21-40

Caliper Mount 55-70 6.2-7.9 63-81

Wheels

Component lbf.in Newton Meters (Nm) kgf.cm

Free Hub Body 305-434 34.5-49 352-499

Cassette Sprocket Lockring 260-434 29.4-49 299-499

Front Axel Nuts 180 20.3 207

Rear Axel Nuts 260-390 29.4-44.1 299-449

Drivetrain

Component lbf.in Newton Meters (Nm) kgf.cm

Pedal into Crank 307 34.7 353

Crank Bolt (Spline and Square Spindles) 300-395 33.9-44.6 345-454

Bottom Bracket (External Shell) 610-700 40-50 702-805

Bottom Bracket (Cartridge and Cup-and-Cone) 435-610 49.1-68.9 500-702

Others

Component lbf.in Newton Meters (Nm) kgf.cm

Steerer Clamp Bolt (Stem) 70-89 8-10 80-102

Top Cap Bolt 35-53 4-6 41-62

Handlebar Clamp Bolts (4 Clamp Bolts) 36-53 4-6 41-62

Saddle Rail Clamp 70-89 8-10 80-102

29. �These are your keys. One set is for your battery so you can 
lock it in place, the other set is for your in-built lock (behind 
your seat)

30. �This is your in-built lock.



173

Thank you for choosing an Ignite e-Bike. This manual has been designed to help get a better understanding of you Commuter eBike.

The Commuter eBike is compliant to Australian standards (EN15194). 

Items in carton:
When you open the carton, please check if the following items are inside. If not, please contact with your agent.

1. Introduction

EN

Charger - 1pcs Pedal - 1pair Manual - 1pcs

USER MANUAL

31. �By undoing this plug you’ll find your charging point, and also 
your USB outlet point (handy for charging up your other 
devices)

32. �Your charger simply plugs into the wall and then into your 
battery. You can leave the battery on the bike, or simply 
remove your battery (by putting in the key and then turning 
the key. Note that your back pedal-arm will need to face the 
rear of the bike to allow your battery to pop out easily. 



18

EN

32 Relationship : 1 Nm = 8.9 lbf.in = 10.2 kgf.cm

Brakes

Component lbf.in Newton Meters (Nm) kgf.cm

Brake Lever (Flat Bar) 53-60 6-6.8 61-69

Brake Lever (Drop Bar) 55-80 6.2-9 63-92

Disc Rotor to Hub (M5 bolts) 18-35 2-4 21-40

Caliper Mount 55-70 6.2-7.9 63-81

Wheels

Component lbf.in Newton Meters (Nm) kgf.cm

Free Hub Body 305-434 34.5-49 352-499

Cassette Sprocket Lockring 260-434 29.4-49 299-499

Front Axel Nuts 180 20.3 207

Rear Axel Nuts 260-390 29.4-44.1 299-449

Drivetrain

Component lbf.in Newton Meters (Nm) kgf.cm

Pedal into Crank 307 34.7 353

Crank Bolt (Spline and Square Spindles) 300-395 33.9-44.6 345-454

Bottom Bracket (External Shell) 610-700 40-50 702-805

Bottom Bracket (Cartridge and Cup-and-Cone) 435-610 49.1-68.9 500-702

Others

Component lbf.in Newton Meters (Nm) kgf.cm

Steerer Clamp Bolt (Stem) 70-89 8-10 80-102

Top Cap Bolt 35-53 4-6 41-62

Handlebar Clamp Bolts (4 Clamp Bolts) 36-53 4-6 41-62

Saddle Rail Clamp 70-89 8-10 80-102

33. �All done! Give everything a quick check-over per the usual 
manual and once all OK it’s time to go exploring!



193

Thank you for choosing an Ignite e-Bike. This manual has been designed to help get a better understanding of you Commuter eBike.

The Commuter eBike is compliant to Australian standards (EN15194). 

Items in carton:
When you open the carton, please check if the following items are inside. If not, please contact with your agent.

1. Introduction

EN

Charger - 1pcs Pedal - 1pair Manual - 1pcs

USER MANUAL


